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EXAMPLE
Random variable X measures the spesd of a molecule of mass m in & gas ot some temperature, Kinetic
theory suggests that the pdf of X can be expressed as

s
Fxlz) =4 »ﬂ%eﬁ?t& z>0
for some constant A > 0. The kinstic energy of the molecule is & contimious random varieblo ¥ defined by
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EXAMPLE

A projectile is fived from the origin at velacity V and angle 7' from the horizontal. It lands & distance X

away, where for gravitational constant g,

2
X= H. sin 2T
g

() TV is constent, but T has » Unifors distribution an 0, ¢/2) then
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The range of X is Ac. Wv end for z in this range, the odf of X is obtained as follows: by definition,
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